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o 21, Flight A falcon perched at a height of 100 feet descends straight toward a prey that

Practice B

Evaluate the expmssmn wnth@uﬂ using 2 caﬂcu[lmm’ Give vum answer in
both racﬂuanﬁ and degrees.

. ) Fpas . - = ) o5
1. cosTi(~1) U %@ 2. tanﬂ? %m 307 a gnlo Of, @ '
. .:_?L

4. sm_-l(‘—-i@) “%ﬂ“. «»%’fr 5 tan”t 1 % et @ c.os"*] 2 [n
Use a caﬁculé%ﬂ* @ evaluaie the e;ﬁ@nfessi@n i h@ﬁh mdliam-&‘% amnct éﬂ;egn‘e@s. _ .

. tan~Y(—1.7) W?Q @Q”% 5%6 8. cos~0.24 1.33,16.17 o sin™? 0.85 .02, ©8.7
10. tairl(zt n e, Wﬂi@% 11. sin" Y- 999) w% %wm. cos"l( 0.1 1 ig"% &5

Solve the equation for @,

185, sin 9= 071 270°< a<360° ALF® 14, tan@-ls 180° < < 270° ‘2%%

15, cos 0= 022;270°< 6<360° 2%72.T° 18. cos 4= —022; 180°<a<270° AR 5y

Fimad the measure of the angle 6.
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20. Carpentry You are maiung a door stopper from a ‘ B F1.7in— .

" block of wood, When the door rests against the stopper, ’ 1
you want the corner of the stopper to extend throvgh the -
width of the door. If the bottom of the 1.7-inich wide door
is 0.7 inch off the ground, what is the angle § of the

door stopper?
. &
a 774

is 125 feet away, Al what angle does it-descend? If the falcon ascends along the same

path as it descended, at what angle does it asoend‘? ' o S ' @ Ny
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Pu'ac‘fw@e Level © 15 é* ”yﬁ
- —r, 880 15
1. sm8”ﬁ>0039 ‘17’53 —
15 5 gnd= %
{:Sﬁe—'ﬁ COtg-'—'g 2- 5"
2 eat@=7
3tm9*£5‘308 3CO 4

cos 0= "5
. . 6( fan 0= 6,;3(;9—'(
3.sm 8= "37 \3
' \/ﬁcote"’l’ 4,008 0= 72

gso = "¢ *
2f 0309 2,

0= M% se0 8= 773 0

g= V3 8.1 800X 7.c

cot
! cost X
- scx 40 - x=
9, —5e0 X © 24— sin?x cos’ :

7
11. Zsecxdsec)-slnx+cos x)-‘ ,
— gin?

2 soc? x (1

7 se” x CO8" X

2
o % =z sin® X

1 +sec(—%) _ Tginx — tenX

12 : Slﬂ(ﬁx) - taﬂ(“x) \
. CO§X — :
1+ sx ccrslc1 - = g coSx T sinx
sin )
—ENX T e x
008 - »—GSGJ’C
cosk b L = Tdnx -
{cos % -+ s %)
—gin¥ ot x =
1.2 + 08 X”3°S x)ﬁ_
0
{2 + 3cos 2ot C} = sin? x(2 + 3003 2 x)
x

{2 + 3cos x)(sm

s — 1 (tanx — Ditanx + tanx +1)
14, E0x =1
tanx — 1 tanx — 1

tan? x'+ tanx + 1 15.g¢ccx + tanx =
1 n sinx_:1+s;’nxwli-sit13c° I —sinx

COSX © COST  cosx  cosk 1 —smx

[ —sinfy cos*x - cosx

cosfl —sinx)  cosa(t —sinx) 1 —simx
1 1
. cos’y  sinfx
sin®x + costx - 1 2 2
7 :""T2 = L8CT X sect x
sin“xcos’x  gin

16, sec®x + csclx =

xcostx

1. Sample answer: Because {x,7)is on a circle .

‘centered at the origin with a radius 1, x2 + 32 = 1,
From Lesson 13.3, we know sin @ = x and
cos & = y. So, sin? 6~§—c{}s =1

8. Sample answer: x = 3—;:
19, Samﬁle answer; x = -3%-

ﬂ.%+2nﬂ,§£+ina‘r 23.6+727T, 3 T+

™ 51 T
3. 6+2mr, s 1‘1‘2."‘2:‘.’!’ 4.4-5-;171'
5, :;z-i-Zmr, T +2nﬁ,ﬂ-§-2nw_,%ﬁ+2ﬂﬂ
6. F +2nm, 2 -I-.’Zm', T LA

T S 7 il
8-3 3,7'910w, .

__m 7 57 Tw 1z M,(g,j) 12. (0,1), (7, 1)

66 6° 6

12 ('r.r 3) (577' 8) (777 8) (llqr §)
= 6731673\ 63

~14. There are no Intersection points,

15, High tides'of 8 foet occur at 6:00 AM. and

- 6:00 P.M;, low tides of 2 feet occur at 12:00 A

and 12:00 PM.
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18. a. ﬁ) ihi.% N
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[F;’racfc'n’ce Level ©

‘Ly=65ini-x 2.y=4cos2x

3.y= —5cos3x 4.y=%sﬁnfm‘-§-2
5.y =2cos2mx — 1 6.j}=~sin%-x~+3
7.y =4 cos 2x S.y:—st{Iﬁ'x.

Q.yZZCoé%x+ | "ﬂ@,yZBSin%x

3
2
3. a. 7= 2.46 sin (0.47¢ + 1.40) + 13.6

11. yﬂ‘-Ssmx 12.y = 33111271‘\:

B. 7= 2.46 cos (0.47( ~0.36)) + 13.6



